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Q [J] over time
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V-T Diagram
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V [m*3]
Total work considered for efficiency: 0.000 J

Total heat considered for efficiency: 0.000 J
Efficiency (Work/Heat): NaN



End of stage 1: Constant energy and volume
Current Time [s]: 1.000

Avg Temperature Particles [K]: 300.000
Volume [m”3]: 0.250

Internal pressure [Pa]: 9903.371
External pressure [Pa]: 9976.800

Total Energy [J]: 3741.508

Total Work (by System) [J]: 0.000

Total recorded work [J]: 0.000

Work during current stage [J]: 0.000
Total Heat (into System) [J]: 0.000
Total recorded heat [J]: 0.000

Heat during current stage [J]: 0.000
pV/NRT: 0.993

End of stage 2: I sother mal expansion (end of experiment)
Current Time [s]: 2.000

Avg Temperature Particles [K]: 301.507
Volume [m”3]: 0.496

Internal pressure [Pa]: 4841.455
External pressure [Pa]: 4983.000

Total Energy [J]: 3760.715

Total Work (by System) [J]: 1676.788
Total recorded work [J]: 0.000

Work during current stage [J]: 1676.788
Total Heat (into System) [J]: 1696.405
Total recorded heat [J]: 0.000

Heat during current stage [J]: 1696.405
pV/NRT: 0.958



#Carnot experinment file 2.0
#experinment Fi | eTnp. t xt

schedul er nanme
schedul er duration :

#Setti ngs
Step size 0. 00005
Ani mati on fps 20
Reports per second 100
Nurmber of nol es 1.0
Nurmber of particles 15000
Particle mass 28.0
Initial particle tenperature : 300.0
Particl e heat exchange rate 100.0
Chanber wi dth 1.0
Chanber hei ght 1.0
Chanber depth 1.0
Pi ston mass 0.2
Initial heater tenperature 9976. 8

#Schedul er

Const ant energy and vol une
1.0

schedul e piston? true
schedul e heaters? true
schedul e pressure? : false
report heat? fal se
report work? fal se
pi ston node 1
chanber vol une 0.25
heat er node 0
heater tenperature : 300.0
heater rate 100.0
pressure node 0
pressure 30000.0
#Schedul er
schedul er nanme | sot hermal expansi on
schedul er duration : 1.0
schedul e pi ston? true
schedul e heaters? true
schedul e pressure? : true
report heat? fal se
report work? fal se
pi ston node 0
chamber vol une 0.5
heat er node 1
heater tenperature : 300.0
heater rate 100.0
pressure node 0
pressure 4983.0



